C23INAS-1] A

The instructions or data fetched from the

memory, is stored in the to decode
and execute.
T T oreT ar R o gufea sar

¥ T geamm (Rers) & aftom @& wgamn
ST #1

(A) MAR (B) MDR

(C) PC (D) ROM

(E) Question not attempted / sgafka ws

A child has to cross road and reach the school
opposite to his house. The child looks on
right and left before crossing the road. On
observing that no vehicle is coming, he
crosses the road and reaches school. What
action of algorithm is represented by the
child in the above situation?

(A) Input (B) Output

(C) Selection (D) Repetition

(E) Question not attempted

e e A uY % fauiia Rud wpe s & fag
Fe%H U HIAT ARl & | T GSH UK A b
Td 9 T quT T35 SR I ¥ | TE WA HT {6
B3 qTEA ST E @, & GSH U B (g
vgg T ¥ Sude Reft § s= % w R
& F fore YT & TEITC BT FanT fpar s
g7

(A) w9 (emm@) (B) ameeye (fFrfq)
€) g™ (D) g
(E) orgara wed

____converts the analogue voice signals into
digital and then transmitting them over the
broadband line.
(A) Video conferencing
(B) VOIP
(C) Chatting
(D) Website
(E) Question not attempted
ST et R i fefvee & sawar
T qur @ Q Ss §T W WHERT B §
(A) fufsar sl
(B) VOIP
(©) =f&
(D) “sEEe
(E) orgaia 9o

Consider the Excel formula for the Excci_

Sheet - ! 0

& T Excel $fie % fiw Excel wr@ ux fam

= - kS o

A|B|C|D B

1160 Al |75 al if (A1=:C1,"T"',"F")

70 | A2 | 70 | A2 | = if (A2=C2, "T","F")
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3190 A3|90| A3 if (B3=D3,"T"_,"F")

What will be the output in column no. 5?
Hiem 5 ® w1 i w9 g ?

F T
(a) F ® T
F F
F T
© T ®) T
T T

(E) Question not attempted / STafta 497

All the different components which make
up the processor have to be condensed to fit
in the smart phone. It is known as

(A) Touch on a chip

(B) Memory on a chip

(C) Processor on a chip

(D) System on a chip

(E) Question not attempted

R A T § g Rt e B o e
i R ST & i T e A
ST ST ¥ - :

(A) == &7 u faw

(B) ¥ & T Ryw

(C) wEEt o © fau

(D) Ryew af7 T fw

(E) srgaia ue
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' is'an example of impact printers.

(A) Laser printer

(B) Inkjet printer

(C) Deskjet printer

(D) Dot matrix printer

(E) Question not aftempted
T R &1 w saE R

(A) @ fix

(B) Fwore e
(C) Zwpure fiiex
(D) sfe afea BT
(E) orgafia wed

Class 9t student, Mahi visits the bank for
the first time along with her father. She
observes that father is issued with a small
book which her father tells that it is a cheque
book. She opens it and finds some pre-
printed information on it. Some of the
information printed is same on all the pages
but one number is printed in a serial order.
She tries to change it. But she is unable to
do it. Why she is not able to change it?
Identify the specialised feature of the cheque.

(A) OMR Code (B) BAR Code
(C) QR Code (D) MICR Code
(E) Question not attempted

HeT 9 WY WIET "y 9 far & wy usel X
¥ TS ¥ T8 AT & 16 S fuar @ uw we
qReet & T R Ta R 9% g% FEd ¥
R gl ¥ ol uwlt ¥ 6 39 W wEd ¥ 3B
i S ¥ 3 @ F IEwal w7
W G ¥ Ul Th 3 HETEIT e e &
IE TH SEE B TIH B § U STHEA i 8
9% T8 Saen o oaad w9 ¥ ? 9% @ 3 fafire
frsvwar & TEEE|
(A) OMR &=
(C) QR =i

(B) orgafe wed

(B) BAR #is
(D) MICR @

10
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Representation of data in a graphical manner
is an important feature of Excel. Identify it.
Also give the name of the component
depicted below -

20 —
15 —

0] n
A B C

(A) Image, Bar (B) Image, Column
(C) Graph, Bar (D) Graph, Column
(E) Question not attempted
fpe aifms @l T FreaeT a1 Excel &1 &0
o1 31 5 weww qun fow ¥ AR feamg am @
forg = o 3R fopar S &7

20

15 —

10 -

s 1] H N

A B C

(A) T, €= (B) =, w9
©) 7w, = (D) U, WY
(B) orafa ued

How many layers are there in OSI Model?
OSI Atsw # fpa dw &7

A) 3 B) 7

< 4 (D) 6

(E) Question not attempted / START we

Which is the first ever arch dam in India?
(A) Hirakud Dam

(B) Bhakra Nangal Dam

(C) Mahabali Dam

(D) Idukki Dam

(E) Question not attempted
T T TBET I §19 B &1 &7
(A) #rgs dfa

(B) «m@sT — M@ §1Y

(C) weEe Sy

(D) w3fep s

(E) organa ued

[ Contd...
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You are given below a question followed by

two statements I and II.

You have to decide whether the data provided

in the statement is/are sufficient to answer

the question.

Question :

Which day of the week is on 20 October.

Statement :

I. First Sunday of this month falls on 1
October.

I. Year for the given date is 2023.

Answer - :

(A) If data in statement I alone is sufficient

to answer the question.

If data in statement II alone is sufficient

to answer the question.

If data in both the statements I & II

together are necessary to answer the

question.

If data in both the statements I & II

together are not sufficient to answer

the question. ;

(E) Question not attempted

e Y TP 99T SR SHS 18 & B [ oK

I g g ¥ eust 9% @9 & W 6 wUe

H far T =T wsH %1 SO} a4 & foe waia ¥

a1 «Ef ?

WA @ .

20 IERET B TNAE H BA A1 & ar?

FYF ¢

I. 39 919 & g (a1 ofEgEy &t ool

I & g fafyr & ad 2023 ?)

(A) afy Faw U | &1 ST 999 & 3T &7

% fog Taia %)

afy Faw How 11 ¥ R @ s w1 &

I A & T waia ¥

iy 997 &1 SO 3 & g waT [ & 11

1 ¥ R man s SRy emasTe ¥

afg e 1 o 11 3 & T =, wea &t

IO 39 ¥ fog gara W& #)

FTgana 99

(B)
©

D)

(B)
©
(D)

(E)

12

13

14
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LCD Panels or flat panel display uses the
property of ;

(A) Fiter (B) Thickness

(C) Light (D) Size

(E) Question not attempted :
LCD ¥« a1 wie @ & yas+ & o
&1 warT g ¥l

(A) WX (B) #reRE
(C) =z (D) 3R
() orgafe wed

is a complete software of a third
party that is installed on the host computer
and can be used by the browser for multiple
functionalities. _
(A) Firewall (B) Add on
(C) Plug-in (D) Extension
(E) Question not attempted

TH 9% Ut &7 "YUl dreeaa €
TR T # ST Sl § q97 38 6w &
sgan fear wian ¥ aife fafe= Reamwemat @t
o= fman = w1

(A) wrRRE (B) uws &=
(C) wm (D) uwEds™
(B) orgeita ued

‘Organising the data in a software so that
the information is relative to multiple files
using a search method.” Which are the most
important features of the software that enable
to filter the data. Identify the best option for
s

fRpdT FTFeaa ® STeT %Y Wiifeq far S & i
e fafr o Rfv= wEdl § dEfha s
T B T | T ¥ WA Bl GEH AS@
fqdreand @ ¥ S S1er & Biew ¥ Hag wh ¢
Iuga fawea ga |

(A) Access, Query

(B) Word, Find

(C) PowerPoint, Selection

(D) Access, Find

(E) Question not attempted / STFART T
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Myopia is another name for which defect?
(A) Long - Sightedness

(B) = Short - Sightedness

(C) Colour - Blindness

(D) Haemophilia

(E) Question not attempted
AraiEn, e A @1 gE W &7
(A) & gfe <y

B) fFme - gfe dw

(C) aorierar

(D) EmiteET

(E) orgaia us

Binary file contains machine readable

characters in and format.

A) 1,0

(B) Alphabets and Numbers

(C) Special characters and Numbers

(D) Alphabets and Special characters

(E) Question not attempted

feamart wgw A =99 @0 w© W= T dudie
3T g ¥

1,0

&R, @&

(C) fafdre ducires Tom dean

(D) et qar it gucis

(BE) srgai@ uss

Every NIC Card attached to the node of a

network has a unique MAC address. This

MAC address is of bit address.

@& NIC &€ st fael eadh % =is & 53 &,

S99 aificia MAC T8® & 81 98 MAC e
4% @1 Ial g §)

(A) 48 B) 96

(© 128 (D) 256

(E) Question not attempted / Taia w9+

(A)
(B)

|:90x15—12x20+l:|
| 2 .

[70x8+11x5] "2
A) 1 B) 2
< o (D) 3
(E) Question not attempted / STgwita U9+

19

20

21
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There are certain number of benches in a
class. If 4 students sit on one bench then
1 bench remains unoccupied. If 3 students
sit on one bench then 23 students remain
standing in the class. Find the number of
students in the class?

T el A PB &9 T Ay ¥g ux 4 feremedf
3 41, 1 ¥ @ 1w W #) A y@e d9 1w
3 et @t fyemar wimg r 23 Ryt wer §
TS & WA ¥ HE A o fenfiy @ dean e
BN

(A) 48 (B) 78

© 104 (D) 110

(E)  Question not attempted / sIgaRa W97

Find the missing number -
TSI T T B -

114|712 |18

212056156 | 2
(A) 215 (B) 188
(©) 342 (D) 472

(E) Question not attempted / srafta we

When a user initiates multiple process to
the computer then the computer follows
FIFO method. The expansion of FIFO is
(A) Formula In Formula Out

(B) First In First Out

(C) Figure In Figure Out

(D) Flash In Flash Out

(E) Question not attempted '

STE U SUANTHGl HYT F q§ GhRATd oW
&l & Al &geX FIFO &1 Sy &l ¥
FIFO @1 faega &9 & —

(A) RET 37 BRE TS

(B) ®& I BE IS

(C) M 57 R anese

(D) RIS 3T TRYT ST

(B) omgaia wes
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Given below is a statement followed by two
assumptions I and II. You have to consider
the statement and decide which of the
assumptions is implicit from the statement-

Statement :

‘BURBURRY” brand purses are for the rich.
Assumption :

L Many people like to be labelled rich.

II.  One is not rich if he/she does not have
the purse of that brand.

Give answer -

(A) If only assumption I is implicit.

(B) If only assumption II is implicit.

(C) If neither of the assumptions I or II is
implicit.

(D) If both the assumptions I and II are
implicit.

(E) Question not attempted

9w wu femr T ¥ fvee 9w S grond
I 3T 11 & 72 ¥ amuel %as 9T e s
3T frofg & & 5 @9 & gmonm Byw &
afafifed &

HYUq
‘BURBURRY’ wis &% 9& &+ @il & fog &)
gIom

. %3 ¥ 9 BT 9EE B T

II. 3k Rpdr & 99 39 97 &1 9d 780 &
I i g T8 &)

ST difsg —

(A) @ uren I == %)

(B) %aw uron 1 519 ¥

(©) =& gron I & =1 & 11 59 %)
(D) < arend 1 aer 11 |51 ¥)
(E) srgafa gea

23
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In the diagram given below :

® indicates
(A) Output (B) Input
(C) Repetetion (D) Process
(E) Question not attempted

o e o

process.

® Rk @ Prefe e )
(A) orezge B) TR

(©) gk (D) whea
(E) orafa e

The five rings of the Olympic symbol are in
five different colours. They are Red, Green,
Yellow, Blue and .

(A) Indigo (B) Violet

(C) Orange (D) Black

(E) Question not attempted

sfiefas faga & 5 e 5 o & & ¥ fved

@, ', 9@, A et . ¥
(A) zfem (B) T

(C) wad (D) @

(E) orgaia usw

Pen drive is one of the most popularly used
device and can be used in port.
U 3139 UH 5% Armi a7 ¥ R LiC
# yanT fmar o wear ¥

(A) SSD (B) USB

(C) UBS (D) SD

(E) Question not attempted / safta wew

[ Contd...
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Virtual memory is a memory management
technique where -

(A) Main memory can be used as
secondary memory.

(B) Only secondary memory is used.

(C) Secondary memory can be used as |

main memory.
(D) Data transfer is restricted between
main memory and secondary memory.

(E) Question not attempted

ST A U A e qeie 3, S -

(A) g& 99 =t fidiaes 390 & =9 § gam
fepar wmar ¥

(B) aw fadas 991 &1 w2 R s gwar
.

(C) fadrs F4rlr % gea F90 & w9 F wam
fepar < wear ¥

(D) =1 &1 e ged aur T a9
& &g fopar waT B

(E) g g

Which of the following is not a logical
operator?

T ¥ B 9T dlhd WA Tel & ?

(A) Check (B) AND

(C) OR (D) NOT

(E) Question not attempted / Sa 9s

Which geometrical figure represents for
Input/Output operation of an algorithm?

(A) Diagonal (B) Circle
(C) Rectangle (D) Parallelogram
(E) Question not attempted

forelt qeriifta & gge—emaeye & s & fg
form il e @1 wanT g £ 7

(A) fopei (B) =
(C) oma (D) wHiET Tgys
(E) orgafia wew

29

30
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Dot matrix printers are also known as serial
printers. They print one at a time.
(A) - Word (B) Page

(C) Character (D) Line

(E) Question not attempted

stz A ey @ GREw Rier % & & S

ST ¥ 1 9% TH 9 F TH gt (Riz)

BT

(A) = (B) uw

(©) @& (D) wmwE [ df
(E) orgafa wew

Find the missing term -
T &1 BT B —

3,4,12, 196, 1005
(A) 80 (B) 60
(C) 45 (D) 35

(E) Question not attempted / STFART 98

Anuyj is trying to transfer money to an agency

from his bank. On trying multiple times,

connection to the bank failed. Because of

the financial transactions, certain cookies

helps to terminate the session where there is

a time-out. These cookies are known as
cookies.

(A) e-commerce (B) Session

(C) Authentication (D) e-banking

(E) Question not attempted

ST ST b | it Tt bt I wrHiaie @Y

T & | -9 YA & SeoE 8% @ BN

e T8 o @ ¥ g @eee & e, gw

PO T B FAD B F AGG B § el

wra-d Piva B B d g

HeEard & |

(A) g (B) @™ (&%)

(C) TR (D) -&fm

(E) erafa wed

The right most bit of the Binary numbers is

Fromerty oi Y T A B T & ;

(A) LBB (B) LSB

(C) MBB (D) MSB

(E) Question not attempted / Iafa 997
[ Contd...
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Ram is the father of Mala and Rakesh is the
son of Sheela. Vijay is the brother of Ram.
If Mala is the sister of Rakesh, how is Sheela
related to Vijay?

(A) Sister (B) Mother

(C) Aunt (D) Sister-in-law
(E) Question not attempted

M, AT &7 fer ¥ o wher s @ g2 ¥
o, T @1 Wi ¥ 1 gfy A, wwy A ge
ar strem, fosma § Far oy wEdr 27

(A) =& (B) =i

(C) = (D) =R

(E) ommia gs

User defined functions in C are written using
the keyword =~

C ¥ Suamhal afeiie e @

9% & Aee ¥ fo@r s ¥

(A) define (B) Define

(C) def (D) Def

(E) Question not attempted / ar=ifa we

H—

The Binary search algorithm assumes that
the items in the array are and it
either finds the item or eliminates half of
the array with one comparison.

(A) Unsorted (B) Sorted

(C) Checked (D) Selected

(E) Question not attempted

faamerdh @ier geiftem @8 a9 & f6 o &
ARYTTHE 7 U1 IE HG B FAehT
TAT AT & AT MY ZE B GAT B STER T
T BT &

(&) srfiga
(C) wita fpan
(E) orgafta g

(B) =g
(D) g T

36
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All the search engines use

data |

where the data is generated from the data

itself, such as logical database designs.
(A) Operational (B) Non-operational

(C) Meta (D) None of these
(E) Question not attempted

GRUKGER-C L S 110 e TG
ST g3 ¥ TG BT & S difehen STee e |
(A) wfRpareTs (B) erfmaTes

©) == D) T § =3 &
(E) orgai@ usw

How many total medals, India won in the
Asian Games - 2023?
TREE O - 2023 F WHa ¥ Fo fhed wws

(=) W fpu?
(A) 112 (B) 109
(C) 105 (D). 107

(E) Question not attempted / saRa us

Read the algorithm and identify the type of
sorting used in it.

Set A=10

WHILE (not sorted yet)

find the smallet unsorted item

Swap first unsorted item with the smallest

Set Ato A+1
(A) Binary (B) Insertion
(C) Selection (D) Bubble

(E) Question not attempted

TR & 93 qur g f6 3 Rew wae @
B BT IYGT ga ¥ ?

FTA=0

WHILE (3t 7% Berg T &)
e B a1 g g enged s B

e Bl 4T A H A + 1 BRT yew e v o
F13TH B QY (STEAT-qEw) HL

(A) Tasmemdr (B) whafe
(C) Tg= (D) gegET
(E) &ara usd

[ Contd...
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39 Ravi and Gaurav are brothers. Divya and

40

41

23INAS-1] /\

Tanya are sisters. Ravi’s son is Tanya’s
brother. How is Gaurav related to Divya?

(A) Father (B) Brother
(C) Grandfather (D) Uncle
(E) Question not attempted

W R e wiE ¥ | R of = 9 7 )
W 1 g v @ Wi ¥ iR ef Reean @ @
e ¥ 7
(A) frar
(C) ==t

(E) orgafta usw

(B) wr

(D) srEn

Who won the title of Mr. Bikana in the
International Camel Festival - 2023
organized in Bikaner?

(A) Kamal Siddu (B) Rajesh Meena
(C) Avinash Singh (D) Ravindra Joshi
(E)

e § A, siadsg S smg 2023 §
free et @’ Raae dar?

(A) 9w fag (B) Twier Hr
(C) arfemar Riw (D) <=z sish
(E) orgafia wsw

Question not attempted

Find the mirror image of -

v forsy w g -

‘t1ZMa’

A) t1ZzNd B) tiISMQg

© tISMP D) t1ZNd
(E) Question not attempted / &aRa "

42
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Identify the diagram and write the type of
conversion the system is performing.

(A)
(B)
(©)
D)
(E)

—

Converter | —y 0100101

Digital to Analog
Digital to Digital
Analog to Digital
Analog to Analog
Question not attempted

&Iﬂﬁm%am%@ﬁsw%mmﬁw
YT BT 98019 & (&1 & —

—— =

A)
(B)
©)
D)
(E)

The

—

ofedE | —— 0100101

fsfirem @ orgeu
Refttea & fefrea
FgeT ¥ fefirew
SIET ¥ STgEU
ARG 9T

button of the mouse is used to

display a menu list of different commands
related to the selected graphic component.

(A) Left (B) Centre

(C) Right (D) Diode

(E) Question not attempted

g ¥ T & yAr R gn

L
TG Teh W GeEfua R ey, Wi we gE
TN % B H BN ¥, &, B yeifa B & fng feam

W

(A) wfr (B) ==

(C) =i (D) sER
(E) ogaRa wew '

[ Contd...
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If + means X, X means —, = means + and —
means =, then which of the following gives
the result of

225 = 25 +4 x10-5 %20

afe + & X, X Bl —, + B + T — @B +, AT

e e R e gew ®

225 + 25+4 x 10—5 % 20 T | 471 8T 7
(A) 1700 (B) -10

(C) 303 D) 250

(E) Question not attempted / STHART 97

Unscramble the letters in the words given
below and find the odd one out.

99 A T o=l & 9uil B FaRYd HE TqE
9T SR 3R 3 € 9= o= &1 9 st
NPE, LINCEP, RERASE, KOBO, LALB
(A) LINCEP (B) RERASE

(C) LALB (D) NPE

(E) Question not attempted / ST U7

Which amongst the following is not a search
engine?

T § B T ad dow ¥

(A) www

(B) duckduckgo.com

(C) bing.com

(D) yahoo.com

(E) Question not attempted / 3TFaia 9

Which option can replace ‘?° from given
relation?
:ﬁ%ﬁﬁnﬁuﬂﬁwwﬁﬁ%wﬁww
T ?

FAN : IDQ :: SAT : ?
(A) TDU (B) WDX
(C) UDV (D) VDW

(E) Question not attempted / sTafa ws

48

49

50
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Which amongst the following is qualitative
data?

(A) Size of household

(B) Gender

(C) Eye color

(D) Age groups

(E) Question not attempted

T B A UTE deia ins 7
(A) =X @1 AR

B) fom

(C) @l &1 1

(D) =& u@E

(E) orgara usd

An unauthorised real time interception or
monitoring of private communication
between two entities over a network is
called—

(A) Eavesdropping

'(B) Snooping

(C) Phishing

(D) Virus

(E) Question not attempted

U W<gs YT o axgrel & &g fsi e a?r
aFfpa ardfas 9 SEdes a1 R &
HET T & -

(A) = g3 g (gerEEsati)

B) 5w ()

(C) TmidT

D) g™

(B) orgafd usT

Which of the following is used while
working on Touch pad?

(A) Finger (B) Pencil

(C) Stylus (D) Gloves

(E) Question not attempted

Zede U B B 999 = A 9 feaer suEm

fomam ST %7

(A) TR B) gw
(C) wrEad (D) e
(E) orgafta 9ed

[ Contd
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51

52

In  http://www.ncert.nic.in/textbook/
textbook.htm address which is the domain
name and which web page is requested?

http://www.ncert.nic.in/textbook/
textbook. htm TS® ¥ SO+ @1 19 FT & a«r
forg 99 9w @ weftm &7

1.  ncert.nic.in
2 http

3 textbook

4.  textbook.htm
5 WWW

Choose the correct answer from the options

given below :

T R o Rt F § T IO @ T4 B
A 1,5 B) 2,3

(C) 4,5 (D) 1,4

(E) Question not attempted / SgaRa g9

Without an IDE, a developer has to select,
deploy, integrate and manage all of them

(A) Virtually (B) Graphically

(C) Separately (D) None of these
(E) Question not attempted

IDE & fa=r, fopelt Saeiue &1 god, a9 &,
UGG B dUT 9 GEHT FERE
HEAT IS &

(A) e w9 ¥
(C) oo alis 9
(E) orgafa ue

(B) 7w i ¥
(D) T @ ®g &
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53  Sumati has to calculate the average of a range

of cells of a spread sheet. She has to display
the average of each row and sum of each
column. She also has to display the average
of all the rows and columns. Consider the
range of cells from Al to H100. Identify the
correct answer which can be used by her.

for columns = Sum (Al : HI)

(A)

for rows = Average (Al : A100) ]

for all rows & columns = average (Al : H100)
Copy to all rows and column

(B) for rows = Average (Al : H1)
for columns = Sum (AT : A100)
Copy to all rows and column
©) for rows = Sum (Al : HI)
for columns = Average (A1 : H100)
Copy to all rows and column
(D) for rows = Average (Al : A100)
for columns = Average (Al : HI)
Copy to all rows and column and

use it for the entire sheet.

(E) Question not attempted
gl ® Us e s sie F fafeq 9« @1 siea
e 71 o8 e dfm @ ofraa @um @t
w4l e et feam &1 8@ Al & H100 wT faam
HL| I E TgF TR AT UEE |

[ifirr 3 forg = sfvr (A1 A100)
(A) |t g =dm (Al:HI) }
|t it o wteit % forg = shem (A1 2 H100)
eft et ud Wit % copy HTU
B) ”-szm%smﬂﬂm(m:m)]

| @4 & frg = W (A1 : A100)
|1 vfeEi ud wiYl § copy &

(©) [ dfe % ferg = @ (A1 : HI)
| wiv & fog = effwa (A1 : H100)
a4t dfidl ud @l ¥ copy e
[ iferr & ferg = afrea (A 2 A100)
(D) | w9 & frg = ofrma (Al HI1)
T it oe w A copy wTW
e wigef sz g s B
(E) orgafa ued
[ Contd...
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The preprocessors in C are defined with
character.

C & W—ar&e &

foman e ¥

@A / B) #

<o * D) $

(E) Question not attempted / saRa ws

Ty ZI IR

Identify the menu tab of MS-Word used to
add a table in a document

it strpie 3 wifcol (aw) s & R e
T T w1 wErT fhar o &7

(A) Add (B) Insert

(C) File (D) Page

(E) Question not attempted / sTaRa we=

On dividing binary number by 11,
the output is 10. Identify the correct option.

fasmendt s B 11 & W 3J
aMeeYE 10 grar ¥1 we Few @t weaH |
(A) 111 (B) 011

(C) 110 (D) 101

(E) Question not attempted / sTaia w9

The cost of 4 shirts and 2 pants is T 3,000.
Find the cost of 6 shirts and 3 panits (in )?
afX 4 HHS X 2 YT @ BHa T 3,000 &, @
6 FHrT X 3 Y2 A Bma R ) w&m aire?
(A) 3,800 (B) 5,500

(C) 4,500 (D) 4,200

(E) Question not attempted / STaRa W=

The word ‘STATIONARY’ is written as
TATSOIYRAN in certain code. How is
‘ADVANTAGES’ written in that code?
gfg ‘STATIONARY’ &I fe&t ge—wmm &
“TATSOIYRAN’ fer@r wirar & | df S&it e
¥ ‘ADVANTAGES’ & %9 forar s ?
(A) AVDATNSEGA

(B) AVDANSESGA

(C) SEGATNAVDA

(D) DVAANTGASE

(E) Question not attempted / STafta we

59

60
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Which number belongs to all the geometrica
figures?

aﬁqﬁﬁﬁwwwﬁmﬁﬁwﬁﬁf%mﬁ%]

/Z/@

(A) 3 B) 5
© 6 D) 4 ,
(E) Question not attempted / Safa wsd

|
|
[
|
|

Web based IDE’s are used to develoi
interactive websites. is an exampl(
of web based IDE.

(A) Microsoft Visual Studio Code

(B) Ruby

(C) Python

(D) HTML

(E) Question not attempted

A9 aenia IDE 7 99hT 93T e a9uns)
#t fyefia & & e fear smr ¥

39 anenfia IDE &7 U SEmeTeT ¥

(A) wrpraTe fegem &R Bis

(B) &=

(C) gy

(D) HTML

(E) orgaia us

In mesh topology, the requirement of numbe
of wires for ‘»> number of computers can bi
calculated using the formula

51 A 4, n g 3 Rrg a1 A Sl

B TEE B O e T
eI |
A) n*(;—l) ®) n+(2n—1)
© n*(;+l) D) n+(2n+1)

(E) Question not attempted / sTg=ifta 994

[ COIltd.T;
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Arrange the following words in alphabetical
order. Which word will come in the middle?
M R T ol @ avfren & e watea
HAN TS B IR T F S ?

ANUIJ, ANKIT, ASHISH, BABY, BUSY
(A) ANKIT (B) ASHISH

(C) BABY (D) BUSY

(E) Question not attempted / aTafta we

Two numbers are in the ratio of 12 : 13. If
their H.C.F. is 11, then the numbers are -
(A) 144 and 169 (B) 121 and 169
(C) 132 and 143 (D) 121 and 144
(E) Question not attempted .

2 weanslt @t orgar 12 : 13 ¥ afk et meaw

wEEd 11 &, o @@ s St

121 3t 169
121 X 144

(A) 144 3T 169
(C) 132 afx 143

(BE) ogaia usA

An___
starts with

(B)
(D)

is a homogenous structure and
index number.

(A) Strings, one (B) Dictionary, zero

(C) Array, zero (D) Array, one

(E) Question not attempted

T gAY SOa E S TAEH®
¥ & B ¥
A) &, = (B) =N,
©) =, 3 D) =& @&
(E) orgafa vew

is a standard machine language into
which Java source is compiled.
(A) Interpreter
(B) Object Oriented
(C) Bytecode
(D) Assembly
(E) Question not attempted
U A A9 A § e s
% Fwiaa fpar T ¥
(A) e (3iwm)
(B) ofisvee sif@a=s (Rva amenfa)
(©) wmz =E
(D) udEw
(E) orgaRa us7

66

67

68
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(111111000101101001), = ( )16
Choose the correct option -

E fome g —

(A) 2E158 B) 2E159
(© 3F158 D) 3F169
(E) Question not attempted / e ws+

Find the missing number.
T E&T Bl T B

15120 | 3
T
360 6
72 | 18
(A) 1800 (B) 7560
(C) 2160 (D) 4320

(E) Question not attempted / STafka ws=

Public class Person
String name
String Telephone
String email
/l class methods
initialise( )
// code for initialise
Public Print( )
Public Name Getname( )
return Name
Public String Getemail( )
return email
Public String Gettelephone( )
return Telephone
What will be access specifier of the field of
the above class?
(A) Public (B) Private
(C) Public-private (D) None of these
(E) Question not attempted
SRR FE & & @l fafie Il B wem
HM?
(A) (B) fri
(C) wrwt@m-felt (D) 379 ¥ @ =&

(E) orgafea wed

[ Contd...
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The 2021 census of India is its 16t census.
In which year did the first census in India
take place?

2021 %1 SFFT ARG Bl Qiaad! ST § |
BE G T H HT D TEA SO gF ot ?
(A) 1872 (B) 1950

(C) 1856 (D) 1962

(E) Question not attempted / STaid ws

Round robin is a method of

scheduling.

(A) Preemptive Scheduling

(B) Non-Preemptive Scheduling

(C) Both Preemptive and Non-Preemptive

(D) Neither Preemptive nor Non-
Preemptive

(E) Question not attempted

RESRG I o fafr ¥

(A) & ¥ & afga w9

(B) & ¥ srfupa ww

() ud srftrpa qen emfga

(D) = @t gd sifga T & g emfuga
(E) orgafa wed

In MS-DOS, when power is turned on, BIOS

does the following tasks.

1.  Rest of OS is pulled

2. Small portion of OS known as boot
loader

3.  Stores it in main memory

4. Loads it into the main memory

2% Self - Test

MS-DOS & w19 fawrell @1 Rag a1f fpar sman

% @ BIOS fr= &rf @ear & -

1. 9w &9 OS & = fr s 2

2. OS @I BT 97T 2 e Heww &

3. 39 g® TEI A dulkd & ¥

4. 39S 9ErG F 9O o ¥

wd g

Choose the answer with correct sequence of

tasks from the options given below:

i &g T fresedt § @ @ % @@ B9 T suy

BT TG BT

A) 5,

B) 2,

©) 5,

D) 2,

E Q

e 4

2 2 -]

2 3

2 -]

L;JI\JM-IB
ML S o
.—-y—l.p.l....)
o LD

uestion not attempted / SIgART U9
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Justice Augustine George Masih has become ;
the Chief Justice of Rajasthan |
High Court. |
TR SR WISt wEiE, RGN EEHE b
¥ g =y s ¥
(A) 43 (B) 40
(C) 41 (D) 42
(E) Question not attempted / safa 997

Which of the following diagrams best fits
for the given group of elements? Judge,
police, Thief

ot it & & fag o we % al % fig wed
SUYHR @ BN G99 BT
=grardher, R, @ .'

w O®
QoD

(B)

QOO

(E) Question not attempted / STaftd w97 |

Which is the best software to create a
dynamic web page? '
(A) HTML (B) Google
(C) Filmora (D) Ruby
(E) . Question not attempted !
T ¥ gfea 99 U9 9 H & e el B"Tg'ﬂlﬁ
TFEAIT BT |1 &7

(A) HTML (B) T
(C) frern (D) w&& |
(E) orgafa wes '

[ Contd...
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Out of the following topologies which is the
least secured and reliable?

(A) Mesh (B) Star

(C) Tree (D) Bus

(E) Question not attempted

e SRafy e (Jetoh) & a9 wd @w
g wa Rereda 37 -

(A) Ay (B) ®W/X
© =% (D) ==
(E) omafa wew

Identify the gateway for simple Internet
connectivity at homes.

(A) Internet Service Provider (ISP)
(B) Server

(C) LAN

(D) WAN

(E) Question not attempted

u A e B A e f20e ddm @
e wAeER (2d) & qeaE |

(A)  $ee || wemr (ISP)

(B) &

(€) # (LAN)

(D) & (WAN)

(E) omafia wew

Relational operators are accessed by ALU
which gives maximum of possible
outputs.

geiftr dftear & ALU 20 sttt feam smar

o st e Frfd gae wiar B
(A) 0 B 1
< 2 (D) 3

" (E) Question not attempted / sIafta ws

78

79

80
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is a networking device that extracts
the destination address from the data packet
and searches for the destination to send the
packet. It sends the signals to only selected
device.
(A) Wires (B) Server
(C) Switch (D) Hub
(E) Question not attempted
Teh "edichTT SUHIO ¥ S e qd By
s1eT Y & e frebrerar & qar 9w Tigedi @
GIST BT & TET Jobe AT ST ¥ | 97 Haw g
BQ SR A Rree Serar ¥

(A) TR (@) (B) w&X
(C) fe= (D) ==
(E) oot e

In a loop of C program, statement
immediately exits a loop, skipping the rest
of the body of the loop.

C 9™ & qu o HYF, 9§ g
ﬁwﬂfﬁaﬁm%amﬁqqqﬁ@gém’él
(A) if (B) else

(C) continue (D) break

(E) Question not attempted / Fwfd w5

Convert the fractional number 0.1011 to
decimal. Choose the correct answer.

=T g 0.1011 as“fmr&taawﬁaam

& I g
(A) 6875 (B) 0.6875
(C) 0.6900 (D) 6900

(E) Question not attempted / ergaia v

Madhu cycled 5 km south wards, turned right
and cycled 6 km and then turned right, cycled
5 km. Again turned right and cycled 7 km.
How far is she from the starting point?
(A) 23 km (B) 1 km

(C) 11 km (D) 13 km

(E) Question not attempted

7y 5 feeiey efor & ol adee e §
3T RAT o1oe 31 et 6 fpeinfler o ¥, oft
AT ot 2 geat 5 fperdier st 31 97 fe
I 1Y geHY 7 Tpmiriex ot ¥ 1 o1 9w o
el &g & fpadr gr 37

(A) 23 et (B) 1 fmardex

(C) 11 frerfer (D) 13 fpeniex
(E) orgafa wew

[ Contd...
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Dev is working on an Excel Sheet. He enters
a formula as shown in the figure given below.

1 [2 13y N f 121 ] 125 -
=Sum ($Al:$A124)

O| 0| w| >

[ [

He copies the same formula in rest of 9

(Nine) rows. What will be the output?

(A) Excel will display the same output for
each formula in each row.

(B) Excel will display different output for
each formula.

(C) Formula is wrong.

(D) Error will be displayed.

(E) Question not attempted

ag Excel $fe 97 @™ &var & | 98 @ g R

¥ us g oiftea & & —

1[2]3 [am | 124 125
= Sum ($Al:$A124)

< gl 0| wm| >

J

I€ IH T B v 9 () iRl & g s

HAT & SSTYL &1 B 7 '

(A) Excel &t dfmal & vde g & g
T aTeeye @

(B) Excel 9% T % 7 STerT—3@T S1EYS
femamem) -

(C) & g ¥l

(D) Ffe (Error) R

(B) orgafa wew

83

84

85
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An optical mouse has a light emitting device
known as

(A) Switch (B) ' Triode

(C) Diode (D) . Bulb

(E) Question not attempted

U Sifeere WISE & TSl TS TV AT Th

CER B HE I T

(A) w= (B) zmis

(C) s=mE (D) ==

(E) orgaia s

The keyboard of an operating

system uses a fixed QWERTY key layout.
This can be exploited by keylogger but are
still safe than normal keyboard hardware.
(A) On screen (B) Online virtual
(C) Software (D) Semi-soft

(E) Question not attempted

fopeir arfofeT e o ‘B 98’ e
QWERTY fy=ama @1 vt &am 8159 4 o &
AT BT B U S T §, g 98
FIETOT ‘T IS BEATL Dl Gl § ey G
(1

(A) & B (B)  ofiemgs e
(C) wiweeax (D) wH—dTFe
(BE) ergafea ued

On March 17, 2023 Chief Minister of
Rajasthan announced the creation of
19 new Districts and 3 new Divisions. Which
of the following is not a new Division?
(A) Sikar (B) Dungarpur

(C) Banswara (D) Pali

(E) Question not attempted

17 =rd, 2023 &Y, (RYE & FEAHS A,
19 et ot & g @St & 9 @l = #i |
fr=fofae & & @F o1 9971 €S T &7

(A) @& (B) $WY
(C) wiwareT (D)
(E) orgafa wed
[ Contd...
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Which MLA was given the best MLA of the
year 2023 award by the Rajasthan Assembly
on 20 March, 2023?

(A) Ganesh Ghoghru

(B) Ameen Khan

(C) Anita Bhadel

(D) Kailash Chandra

(E) Question not attempted

20 =T 2023 =, e Ryemas &Y, T Ry
| ET, garad fyumge &1 IR far e
(A) TToreT HEE

(B) oFF @
(C) orFmaT Wew
(D) ey O
(E) orgaia wsd

87 ' IDE suite consolidates basic tools require to
write and software.
(A) Play (B) Test
(C) Design (D) Delete
(E) Question not attempted
IDE Suite Greaat e agr % fog
METH AV SUBTUN Bl THFBT BT 8|
(A) = (Twr) (B) <& (sitg &)
(©) feomm (D) fedire (frerm)
(B) orgaia ued

88  All the information on the internet is passed
using  switching method.
(A) Portable (B) Packets
(C) Pouch (D) Primary
(E) Question not attempted
e T g wEeIar fafy zma
BT O ¥
(A) www (gawE) (B) ¥he
(C) u= (D) v
(E) organa us

23INAS-17 A

89

920

91
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In a Word document, Simrat has to display
the list of online sites which can further be
used by a student for preparing a research
paper on, “The Effect of Social Media on
the behaviour of Students.” Which feature
of word is the best suitable to prepare the
list?

(A) Linking (B) Bullets

(C) Numbering (D) Graph

(E) Question not attempted

% 9% TEgde ¥, RWTa & i wEe &t
g & waiiia & &, R W’ ¥ s v ar
“grEl % TR T TieTd Hifear & gwre’ fowa
U e U GO B & 7Y W W ¥ 5
T B & BT B R 78 B B @ s

IugEHT ¥ 7

(A) T (B) g
(C) =sfer (D) wmw
(E) orgafa us7

is mechanism by which one class
acquires the properties - data fields and
methods of another class.
(A) Class (B) Encapsulation
(C) Inheritance (D) Polymorphism
(E) Question not attempted

us wiear ¥ frad @ e @ gEn
ot ot fageand — swer &7 o fafr @ T
HT B

EC; aaa('rfsms) %D)) agﬁqa‘r-
(E) ergafa wed

In a Data Entry Office, the computer centers

are on 15t and 4" floor. Both the centres are

connected three LAN. However the signals

take time to travel. Which amongst the

following hardware can improve the data

transmission?

(A) Modem (B) Repeater

(C) Router (D) Computer

(E) Question not attempted

THh 3 T HEEE W, FYIX FR TsA AT

<ely wiforer 9T ¥ 1 <Y B LAN & 718 @ T8
¥ Rl (Sa) &1 9ges o §9G @ 8|

¥ ¥ BE W oEEAdY s |@ue o
U HT THAT & 7

(A) =" (B) fdrex
(C) TR (D) FFXR
(E) orgaia "
[ Contd...
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Six boys A, B, C, D, E and F were born on
the same day but in different years during a
span of six years.

1. A is older than C

2. B is older than both D and E

3. F is 2 years older than D

4. A was born either in 1952 or in 1953
5. The oldest member of the group was

born in 1950
If F is the oldest of the group, then identify
the correct statement -
(A) C was born in 1954
(B) A was born in 1952
(C) D was born in 1951
(D) B was born in 1951
(E) Question not attempted
B: @& A, B, C, D, E aiX F ot &1 571 ©&

8 T w1 ¥, utg oW wed 9 & 9y st

T T

1. A, C3¥ st

2. B, D 3R E 3 & se1 ¥

3. FED%2a¥seri

4. Awrdrad 1952 F, ar T 1953 F
T B

5. 999 937 95® 1950 # S ¥

aft F 998 & 9ad 937 ¢ ol 98 Buw ggariie—
(A) C & 5= 1954 & gam |
(B) A &1 = 1952 ® gar 4nl
(C) D @1 5= 1951 & garm &l
(D) B @& &= 1951 & gam 4l

(B) srgafa g

93 If 20% of 500 is equal to x% of 400. Then
value of x is -
Tt 500 & 20%, 400 B x% & I & & x
BT A FTE?
(A) 23 (B) 24
C) 25 (D) 26
(E) Question not attempted / srgafta s
23INAS-1] /\

94

95
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Every OS has a __ which permanently
resides in the main memory of the computer
to perform some of the basic functions.
(A) Centre (B) Kernel '
(C) Hardware (D) Node

(E) Question not attempted

TGOS Hud g ¥ W deey @ ge
= ¥ Red O ¥ qur gn g Bl @

FE F o gaq war )

(A) &= (B) ww
(C) wEaa (D) +rs
(E) orgaia usd

Which option can replace ‘? : 2’ from given
relation?

Temperature : Thermometer :: ?:?

(A) Water : Milk

(B) Length : Scale

(C) Bank : Money

(D) Height : Barometer

(E) Question not attempted

& T 9 ¥ ysTEee e % we 9w
T ? T B

O ey o P ?

(A) g

(B) w=E : WH

(C) <% : v

(D) Furg : argETET

(B) ogafa wea

If ‘TELEPHONE’ is
‘FOPIQFMFU’ in a certain code. How is
‘MYSORE’ written in that code?

gfy ‘TELEPHONE’ & fpdt gz—wmor &
‘FOPIQFMFU’ ferar sar &1 & Sefr gpe—smwn
¥ ‘MYSORE’ &' %& forar s ?

(A) NZTPSF (B) FSPTZN

(C) FSPZIN (D) NFSPZT

(E) Question not attempted / srgafka ws+

[ Contd...
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Which of the following comes under remote
login?

1. Video conferencing
2.  Talking on phone
3.  Telnet

4. Any PC

Choose the most appropriate answer from
the optiens given below :

(A) Only 1 (B) 1 and 2
(C) Only 3 (D) 3 and 4

(E) Question not attempted

= & fore witgT & efanfa @ omar #7
1. fafsar sk

BF 9 A

TN

#5 PC

W e T Ryt & @ € ST @1 99 it
(A) w1 (B) 1ud?2

(C) Haw 3 (D) 3w 4

(BE) orgafa wed

Who is the first Lokayukta of Rajasthan? -
(B) M. L. Joshi
(D) I D. Dua

(A) D.P. Gupta
(C) K. S. Sidhu
tE) Question not attempted

TSR HT TS ABIGRT DT & 7

(A) b T (B) uH. ua. wel
(€)' % wa. fog (D) o €1 gan
(E).' Gﬁ?lﬁ?r L EL ]
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99  You are given below a question followed by

two statements I and II.

You have to decide whether the data provided
in the statement is/are sufficient to answer
the question.

Question :

Find the surface area of a cuboid.

Statement :

L The sum of the length, the breadth and
the depth of a cuboid is 20 cm.

II. Diagonal of the cuboid is 5\/§ cm.

Answer -

(A) If data in statement I alone is sufficient
to answer the question.

(B) If data in statement II alone is sufficient
to answer the question.

(C) If data in both the statements I & II
together are necessary to answer the
question.

(D) If data in both the statements I & II
together are not sufficient to answer
the question.

(E) Question not attempted

SIT A Th U9 3fX ST 918 &7 Y+ 1 3fx

I g g ¥\ smuet g @@ w e 6 wue

# f&@n T ST weA @ ST & & fog uara ¥

a1 T ?

e ¢

Teh A9 %1 YOI &sIhe feherem &I 7

HY ¢

. o9 & e, deE K HAE & an
20 g4 ¥

. == & Rl 5,/5 @ ¥

I T -

(A) afx srher HU= [ &1 ST Y99 &1 IAL oA
% fore gata &)

(B) ik o= 11 ® @ Tar s1er srhe e &l
STt 3 % foe wata ¥

(C) 3k wsT &1 IO 39 & forg e [ o 10
gl famn e st sify smasTs ¥

(D) aft wy= I o 11 <91 & fomm =, uew &
IAX I & g waia @ F

(BE) orgafa usT

[ Contd...



100 is the separation of the logical view | 103
of data from its implementation.
(A) Control Structure
(B) Data Abstraction
(C) Testing
(D) Initialisation
(E) Question not attempted
T[T % AT FIeeHIVT BT Seh parera
¥ gyEhIm ¥
(A) frasor g 104
(B) sar gumepTr
(C) udero
(D) amtdremTor
(E) oafa usw
L oeav i3
101 3§+1*2—+3z— ?
19 19 105
@) 5o ® 7
19 17
©) 6; (D) 7_8_
(E) Question not attempted / ST aRa e
102 Which of the expression correctly defines
the statement?
B & aifreafe f&q e @l afemiya sear € ?
Check whether the values of 3 variables
agel, age2 and age3 are equal to each other.
il 106
witg &L 76 3 9 agel, age2 aum age3 &1 A
% TEL B N )
(A) agel = age2 = age3
(B) agel == age2 and age2 == age3
(C) agel ! = age2 ! = age3
(D) agel = age2 and age2 = age3
(E) Question not attempted / aafta ws
23INAS-1] A\ Page 20 of 32

Four sets of numbers have been given below.
Out of which, three are alike in some manner
while fourth is different. Choose the odd
one.

e v A demelt % O ggey ¥ @ de
Yol § $B GEET §, wafh dar ageag 59
e o ¢ e a8 s w5t

(A) (6,8,1000 (B) (5, 9, 99)

© 3,9, 90 D) (7, 8, 113)

(E) Question not attempted / srafta 9

In LAN, connectivity can be created using

Wi-Fi, or cables.
A) TV (B) Radio
(C) Mobile (D) Ethernet

(E) Question not attempted
LAN ¥ Wi-Fi, ar *IA B HEg °
s ety fRar s wear ¥

Ay, IV (B) =
(C) wamsw (D) zuTE
(E) orgafia wsw

Solid State Memory Sticks are commonly
used in our day to day life. They are available
in various storage sizes. Identify the device.
(A) Cache (B) Compact Drive

(C) Pen Drives (D) Printer

(E) Question not attempted

31 Rafa 391 Rew &1 wam &7 e s &
B £ 78 R e o e ¥ Suwer
& &1 TH GF B UBEH |

(A) & (B) @ TrEE
(C) 7 3w (D) Bz

(E) ogaf@ wsv

Four persons meet at a party. Each of them
shakes hands with every other person. How
many hand shakes are in total?

AR R T T A U qEt @ P oo a
o e T IR el ¥ gy P ¥ ogw

Tea=r S1¢ BT Ryemam T ?
(A) 10 B) 12
(C) 6 D) 5

(E) Question not attempted / Saia we

[ Contd...
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(A) Debugger

Netbeans have visual components to drag
and drop front end components, is
an example of it.

(B) Plug ins

(C) Radio buttons (D) Keypad

(E) Question not attempted

AeEE W 399 UeH B § W oW § o 7% &
UZhH! Dl WiaHT BISH Bl B BT &

3GHT TH ST §|

A) S B) w5

(C) fr-wew (D) #H-Ts

(E) omafa we

signals are discrete and generated
by digital modulations.

(A) Analog  (B) Digital
(C) Noise (D) Bandwidth
(E) Question not attempted

@ otgaa ¢ 9ur o® fefvew
u%ﬁw@rmﬁsmw%l

(A) sga (B) ffsrew
(C) &R (D) #sfyy
(E) orgafa usw

QR consists of three distinct squares. First
two are on the sides of the top and the last
one is on the of the bottom.

(A) Left (B) Top

(C) Right (D) Center

(E) Question not attempted -

QR % i fafe= weprt & ot 1 ¥ vt & »ux
WYl Wamsitm TR Y dar ¥
(A) =g (B)

©) =g (D) ==

(BE) ogai@ us

110

111
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is a network security system

designed to protect a trusted private network
from an untrusted outside network to which
it is connected.
(A) Bridge (B) Cookies
(C) Firewall (D) SSL
(E) Question not attempted

T g glan yonen & R Rrsewa
Froft sz @1, sifsarl sedl Sead fad o
T &, B Y& % g s ¥

(A) B= B) Far
(©) wrtEE (D) SSL
(E) orgafa wew

Following steps are followed for a program
written in a high level language by a

computer -

1.  The program is compiled into object
program.

2. Source program is read and loaded in
memory.

3. Compiler reads the program loaded in
memory.

4.  Machine language routines for reading
and writing data.

5. Compiler may be removed from
memory.

HYLT T TH T W e @i Wi ¥ fras

% e T ¥ -

1. 9% 9w sissee W & gl & ¥

2. ord v @ A N gt fear s &
qAT TGT W@ ¥

3.  duem, 7R A Rug wom, & gear ¥

4.  |AF AT Frafa w9 ¥ SR B ge aum
e % fog & 3

5. €U®® B AAR A SIerT R6AT o wewerr ¥

Choose the answer with correct sequence of

steps from the options given below:

2 g T el § & awor & 98 B 919 99

@B I DHINTT:

(A) 2,3,1,4,5
(B) 5,4,3,2,1
(C) 3,2,1,4,5

D) 4,5,1,2,3

(E) Question not attempted / ek ws7
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1 The total teachers in a state are 6000. Their district-
wise distribution has been shown in the given pie-
chart. Study the pie-chart careﬂdfy and answer the
questions that follow from (Q. Nes. 112 - 115).

77 7 e 6,000 sreargas &1 3T @t H T R
et arEene o & faaman T &1 wrEere @t araarigds
v2 it g9t & T 31 (997 ge=ar 112 - 115) ‘

Percentage Wise Distribution of
Teachers in 6 Districts

10

112 How many teachers from district C should

move to district F so that both the districts
have the same number of teachers?

fepe sremmaes e C & v F A o1 wind, foras
o5 St Foreit % reaTe! i dear ST & =y ?
(A) 1020 (B) 660
(©) 960 (D) 840

10 (E) Question not attempted / safa 9g

113 The difference of twice the number of teachers

of district C and thrice the number of teachers
of distret D will be?

afy fyet C % sreamget @ weam &1 3o ol e
D % aTeaTIeh! sl AT B A AT HT A S A
ST Rl % sreaTden! i WA BT ST=AT B 7

(A) 960 (B) 720

(C) 840 (D) 660

(E) Question not attempted / Cﬂﬁﬂﬁ ES

231 23INAS-1] A

114

115

116
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Ratio of the number of teachers in disctrict C
to the number of teachers in district B will
be-

forem C oft Re B % srearues! &1 Seam &1 sTqura
T & ? '
(A) 5:4 B) 6:4
C) 7:4 D) 4:7
(E) Question not attempted / STafa Usd

Ratio of the number of teachers in district E
and D to the number of teachers in district B,
A and F will be -

e E ofit D & ereamues! &1 g& oK {9 B, A

3T F % sreqyenl ol €ean % STgurd & :
A 1:1 By, 2:3
© 3:2 (D) 3:4

(E) Question not attempted / Safa 997

Operating system allows the file system to -
(A)
(B)

Rearrange the characters of the files.

Create, Access, Maintain a directory
and protection of file from
unauthorised access.

©
(D)

Change the extension of the file.

Transferring files from one computer
to another.

(E) Question not attempted

st Ry, wEw e @1 feas g erftrpa
BT & —

(A) WIEA & 0T H TR YT Y: %A F @

(B) sm@d &1 fFmiv, st @ wag @
TUT A B AP ATHTIT § T

BIEA b YIS Bl T
BIEA B Uh HYIT ¥ T HYX H
L IR IR

S We

©)
D)

(E)
[ Contd...
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IPSEC, IP Encapsulation and Tunneling are

the technologies used in only.
(A) Intranet (B) TCP
(©) VPN (D) Internet

(E) Question not attempted
IPSEC, IP wfrciietor qen eafe ot aeiie

¥, Rmerwam F g #
(A) MR (B) TCP
(C) VPN (D) e
() sgafa ueT

Identify the moﬁg number in the series.
& T e A Ted G T B |

145, 122, 92, 82, 65, 50

(A) 65 B) 92

©) 82 (D) 122

(E) Question not attempted / 3TFTRa e

Can we create an mp4 file of a PowerPoint
presentation?

(A)
(B)
©)
(D)
(E)
T T qrEEise Yo @ mpd BIEA S
b &7

(A) 9 haw WIEs 9 UHhd o |

(B) ®9 %aw mp3 BEA I HS £

(C) & aw Hoiad (TFMIF) 1 Fhat ¥
(D) &9 mp4 WEA ST Thd ¢

(E) ergafta wed

We can create only slides.

We can create only mp3 file.
We can create only animation.
We can create an mp4 file.

Question not attempted

120

121
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Each file can be accessed through a filemode.
These file modes decide what action can be
performed in the file. If the file mode is <r>

then we can only the contents of the

file.
(A) read (B) write
(C) delete (D) overwrite

(E) Question not attempted

T&% BE B BIEd HIE F AT fEar W
ghdl &1 g% BEW qe Fraio e € 6 sw
EEd § B 91 R @ we | afy wiEe 9 <>

€ O € I9 BIEH B had G &
(A) W B) fra

(©) fr (D) geET &Y
(E) orgafa 97

A, B, C, D and E are seated around a circular

table facing centre.

D is between A and E, C is between B and
E in clockwise direction. Who is on
immediate left of B?

A, B, C, D 3l E o+ Us et 391 9, &5
B TE GE HLh, AEH T IS T

D,ANRES dmdA a1y, C,BiRE & 91
¥ w2t &1 g3 @l faan ¥ d21 1 @ B & Frepeaw
Rl T For 3?7
@A C
(©) E

(B) D
D) A

(E) Question not attempted / STFART U

[ Contd...
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123
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Soham has created a word document on the
topic G20. He has written text matter, images
and a table containing, the list of countries
and the dignitaries who visited India during
G20 Summit. His friend tells him about a
term of computer which is generally used
by the printers. The term is WYSIWYG. The
full form ofitis .
(A) What you Set is what you Get
(B) What you See is what you Get
(C) What you Simplify is what you
Generate
(D) What you Send is what you Generate
(E) Question not attempted
qre 7 G20 Rww W w9 slegEe =
S 1=, T qur @i e G20 % drm
STET—STET 39 & o Hew™ & F19 onfhe &1
IEHT S 8 HYT B TH yEEE B aR A
A & S e 9T fie a3 swme e
wrer ¥, St WYSIWYG %1 39 9r& @1 qof
®q T

(A) BRI ™I I T

(B) @y = IR YW

(C) == g fReier 51 =1 g e
(D) =R g ¥s 59 BR g T
(E) orgafa usT

Development tools like text editors, code
libraries, compilers and testing platforms are
available in a framework of IDE.

(A) Multiple (B) Different
(C) Single (D) None of these
(E) Question not attempted

Rrepfaa Susw §Y ede Ui, @is @R,
HYEAT qur RET wewd, IDE &

WHas § HeE wd B

(A) wgw B) fafg=

(C) usw (D) T & @5 T
(E) ergafa ws
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124 You are given below a question followed by

two statements I and II.

You have to decide whether the data provided

in the statement is/are sufficient to answer

the question.

Question :

A man standing on the bank of a river

observes that the angle subtended by a tree

on the opposite bank is 60°. When he moves
away from the bank, he finds the change in
angle. Find the breadth of the river.

Statement : '

I.  Thechanged angle is found to be of 30°.

II. He noticed that when he moved
40 m away from the bank, tree subtends
30° angle on other side of the river.

Answer -

(A) If data in statement I alone is sufficient
to answer the question.

(B) [If data in statement II alone is sufficient
to answer the question.

(C) If data in both the statements I & II
together are necessary to answer the
question.

(D) ' If data in both the statements I & II
together are not sufficient to answer
the question.

(E) Question not attempted

S9! I TP W9 T SGH §1E o HYF [ aiX

Il &g 7Tq 2| oM9el 98 a9 &A1 BT 6 @Y

H @ mar ST v & 397 39 & fou qata

a1 Téi ?

waq

&1 IR w1 we =i @ & 6 ue g am

&I % TEL BT 9T 60° &1 HvT gwar T et

Y oIl W W 9T 3§ e & 6 3w @

STAT ST &, 7&I &) ASE S BT

FUA :

I 5@ ga7 @1 30° @1 ¥

. =afr o e & 40 Hret g wiren & & g&
BT R % OB 9T 30° 7 07 g9a 2 |

T E -

(A) aft Faw HIF 1 BT ST 997 &1 3T 39
% fau gara %)

(B) af %ew wuw 11§ R 741 =T 99+ @
IO 39 % fog qafa #)

(C) afg wew &1 99T &9 & T @y 1 i 11
T F R s ey sreavaes )
(D) afk a1 ofr I <9 & fgr mar s,
U9 &1 SOX 39 & fou uuie w8 )

(E) orgaia us+

[ Contd...

125 I am a memory device. I am composed of
transistors and capacitors. I am able to access
the data fast. Who am I?
(A) Dynamic ROM
(B) Static RAM
(C) Dynamic RAM
(D) Static ROM
(E) Question not attempted
¥ ws AE O €1 g9 iR wd ST 3
AT AT ¥ | H AeET & ST B TSI BT Gehal
T @ g7
(A) T ROM
(B) w@fes RAM
(C) wifs RAM
(D) @i ROM
(E) orgaia usd

126 Rashi is twice as old as Sunita. Three years
ago she was three times as old as Sunita.
How old is Rashi now?
(A) 12 years (B) 8 years
(C) 6 years (D) 7 years
(E) Question not attempted
T GAT & T °F A ¥ A9 ad g sgan
TG AT Y 3G & A Jom &Y | TRT Y adwm
&g T BN
(A) 12 &9 (B) 8 ad
© 6f (D) 7 =d
(B) orgafa us

23INAS-1] A
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While transmission of data from a sender to
receiver using Modem on Internet, the data
is first converted to from

(A) Analog, Analog

(B) Analog, Digital

(C) Digital, Analog

(D) Digital, Digital

(E) Question not attempted

UYH T U T ST B WHIG 20 T
oeT % g g § e s e
¥ ¥ yaiqq war 2

(A) orged, siged

(B) orgem, ffwrew

(C) feferem, ergew

(D) feforew, fefvream

(BE) ergafa wew

The octal number system has a base of

ST ST TET gEfa § Se gar & )
(A) 10 B) 8
C) 16 D) 4

(E) Question not attempted / sTzifa 997

If “Earth’ is called “Water’. ‘Water’ is called
‘Sky’. “‘Sky’ is called ‘Land’ and ‘Land’ is
called ‘Roof’. Then where would a bird fly?
(A) Sky (B) Land

(C) Water (D) Roof

(E) Question not attempted

Tie ey S Ul HET Y, I DY BT BE,
SIEBIST I T S S T B Ba ®E, a9
Tell el aT SN 7

(A) oISt (B) wH=
(C) (D) ®a
(B) orgaRa wed
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130 Given below is a statement followed by two

courses of action I and II. Assume statement

to be true and decide which of the suggested

courses of action should follow :-

Statement :

One of the students in school is behaving

very rudely with other students, even

physically hurting them.

Courses of action :

L. Student should be expelled from the
school.

II. Counsellor in school can have sessions
with that student to understand and
change his behaviour.

Give answer -

(A) IfI course of action is to be followed.

(B) IfII course of action is to be followed.

(C) IfIand II both courses of action are to
be followed.

(D) If none of the courses of action is'to
be followed.

(E) Question not attempted

A uep waw R ¥ R veEE @ Reard

I ot 11 &y 7€ ¥ | waw &t g 7 ol fofer o

f5 gaw T wE # A f6E @ STgETer ST

ey :

YA =

frerera &1 T e, e REnkial & g g5

HIRX TTER BT &1 & 3R o a1 -4z |

% T &

FEaE

L femedt @ femea @ Freefia &t 0 Tl

I et %, @ HEEEX & W, G B
wifew s a8 femell @ @We % 8
Su% TaeR ¥ uitadd @1 bl

TaT afwg -

(A)  aft wrfaré [ &1 9@ T ¢

(B) wufy wrfamdl [ &1 o & &)

(C) afy erefarél [ & 11 St &t Te ST & |

(D) afx et o wrefaTél &1 e T BT T

(E) orgaia s

131

132

133
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fact (N)
if (N equals 0)
Return 1
else
Return N * fact (N—1)
The above algorithm is a specific example
of
(A) Selectlon (B) Sorting
(C) Recursion (D) Displacement
(E) Question not attempted

ST TEIEH W1 U e IR
(]

(A) = (B) ®fe

(C) vemERA (D) feramas

(B) orgara wed

Repeated division method by 2 is used to
convert to

(A) Decimal, Binary

(B) Binary, Decimal

(C) Decimal, Decimal

(D) Binary, Binary

(E) Question not attempted

2§ artar W Tty & v H
¥ gee % fog fear o #

(A) =wymeE, fgsmard

(B) fromurdl, ssmera

(C) =wymea, symwd

(D) fasmerdy, fgsmard

() srgafea 9

is an example of analog signal and

is an example of digital signal,| 135

rexpectively.

(A) Smell, scanning

(B) Scanning, smell

(C) Smell, speech

(D) Word document, speech

(E) Question not attempted
Ty Ryt &1 TH SAET & T
fefirest Rewer @1 SaTE ¥

(A) Ty, swHAE

(B) wHeET, Y

(C) Tig, ImEq

(D) 9 srEgHe, arEd

(E) oraid ued

[Contd... 23INAS-11 A

134 Ravi and Kunal are good in Hockey and

Volleyball. ‘Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are
good in Cricket and Volleyball. Sachin,
Gaurav and Mohan are good in Football and
Baseball.

Who is good in Baseball, Cricket, Volleyball
and Football?
(A) Sachin (B) Kenal'
(C) Gaurav (D) Ravi

(E) Question not attempted

TRy oK e EaT & atelaTe § o ¥ | |
iR T e ofix JmeTa F ord ¥l WA ek
o T oY afeaTe F ored ¥ | @, Ra
SR e pedta ot duai A ored ¥

Fm B 7

(A) @R= (B) Fmw
(C) & (D) <4
(E) ogafta usT

Write in ascending order

(.01)3, 0.0011, .0012, —1.0, 0.15

~Which number comes in the last?

& $ derel @ oE mH ¥ fuRaw ok s
FHre 5 @ O g ofd ® S ?

(.01)3, 0.0011, .0012, —1.0, 0.15
(A) (.01) (B) .0012
© 015 (D) -1.0

(E) Question not attempted / STgaANG Us
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136 Given below is a question followed by two

statements 1 and II.

You have to decide whether the data,

provided in the statement, is/are sufficient

to answer the question. '

Question :

Find the cost of fencing a rectangle at the

rate of X 10 per metre.

Statement :

L The Length of the rectangle is 30 m.

II. The Breadth of the rectangle is twice
of its length.

Answer -

(A) If data in statement I alone is sufficient
to answer the question.

(B) If data.in statement II alone is sufficient
to answer the question.

(C) If data in both the statements I & II
together are necessary to answer the
question.

(D) If data in both the statements [ & II
together are not sufficient to answer
the question.

(E) Question not attempted

ma?fﬁ%qaﬁm?eﬁ'{malﬁa‘rmwlaﬁ?

Il R g ¥ el 9% 99 BT B 6 BT
ﬁ'ﬁmwmusﬁmwéﬁ%mm’é
ar TR ?

o+

TF A H G a% 9% @ H gE < 10

yftt HreT @ X F T B

FYA '

I omgd @ s 30 HieX )

. omed @ s W @ & Al )

T T —

(A) afk Faw wud 1 &1 ST 98T & ST A
& fore wata )

(B) afX saer wuw 11 & T wam swer 997 &1
IO 3 & fog wat 2

(C) f¥ we &1 wa¥ 34 & g wuw [ ik 11
A § R wrer oifa smavEs ¥

(D) afg wyw I iR 11 31 & e s1er, we &1
ol 3 % fou gaia 79 2

(E) S RIEG R ER
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137 The smallest 6-digit number exactly divisible | 140 If 15q + 156 = 750, the average of a and b 142 Data protection is very essential in today’s | 144 The greatest possible length which can

by 201 is - will be - digital age where millions of data is created measure 80 meter 64 cm and 96 meter.
©: 3l B TEY B e s HO o 5 201 e 15a + 156 = 750, T a o< b = i and are illegally used by some. In order to (A) 384 cm (B) 960 cm
ol wm ® - ?:)r_ %0 ®) 45 - - protect data, grants legal rights to (€) 840 cm (D) 480 cm
(A) 100500 (B) 100098 ©) 25 @) 15 creators for their original work. (E) Question not attempted
_ a€ et Fwg @ St 80 WY 64 A
C) 100089 D) 100299 t t i
©) (D) (E) Question not attemp ed / sTgaia 99m (A) IPR (B) Copyright AR 96 Hex B W B A g
(E) Question not attempted / Tgafa w9 ' : -
: 141 Below is given a statement followed by some (©)  Trademark (D) Licensing (A) 384w (B) 960 F.4.
conclusions. Assuming statement to be E uestion not attempted (C) 840 &4 (D) 480 A ..
M 1 1 1 decid h of th 5 % >
138 During May 2017, a very popular malware universally true, decide which of the : . (B) ot weT
infected almost 2 lakh computers around the conclusions follow from the given statement. ot % fefren g 7 srer gran dew o ¥ ot '
world. It demanded payments in Bitcoin | °  Statement : arEl s1eT o i @ ¥ qor 5@ 5w @it % . _ )
crypto currency. It made its victims cry. It is No cap is socks. Some caps are gloves. CIIE SSFIE QU U U S 145 IDE is basically an environment of tools like
known as : Conclusion : : !
€A) ' Wainna Cry (B) Baby Cry I. Al gloves are socks. o g T bR ot (A) Text Editor  (B) Debugger
L ). Hedo II.  All socks are gloves, BT SfreeTe 3 ¥ (C) Compiler (D) All of these
o
rypto Cry ry IlI. Some gloves are caps. (A) IPR (B) @iz (E) Question not attempted
(E) Question not attempted Give answer - " :
‘ IDE T SUHTN B e ¥
5§ 2017 % A<, TH Yeg Wi a3 G (A) If only conclusion I follows. (C) = 9% (D) wrgafT s
fva & W 2 AT S @ Swiv Rearl a8 (B) If only conclusion II follows. (4) SE (B) Jm
Prz—sarée Pt e N - (C) If only conclusion III follows. (E)  srgafia wew (C) e (D) o |+
: Rl ’ Sﬁg S (D) If none of the conclusions I, II, III (E) omgafia wew
T follows. _
(A) <= g (B) s« wrg (E) Question not attempted - 143 Find the missing figure in the diagram given —— J e Flin e
o r— oo ch amongst the 1ollowing is not a way
(C) et wr (D) = =g ;h:;‘?; ::Hﬁﬁ{m ¢ @Tﬁ?: & 3:% s i ke to protect the system from malware?
(E) a‘aﬁﬁa— Uy e & ¥ o R 1G] a'?fﬁl"'{l (A) Opening the pop-ups
g R i ar P wd ¥ 7 .
J— . (B) Firewall protection
139 IDE stands for Integrated Development B3 o e TE ¥ v IRt @ §) (C)  Avoid using the public Wi-Fi
) frere : (D) Taking a regular backup
(A) Enterprises  (B) Environment L i e g & (E) Question not attempted
; : I & O s ¥ T G T e R @t awee @ gehm e
C) Evolution D) Educational o . :
(©) Evolution (D) Bduca M. g s 2 & 1 <l T &7
(E) Question not attempted waT S — (A) Tio—aig @ e
IDE &7 &% ¥ — s Saauie (A) WIWWZ{ (B) wlaate e
A) womEE (B) TR % gﬁlﬁwﬁiél (C) e WicFi % wwdm & we
© NS D) =L =10 i = I frsmd = %) ' - (D) Frafir 3% S
(E) Gl‘j,ﬂﬁ‘rr e (E) ‘;ﬂﬁﬁﬂ s (E) Question not attempted / SFaRE 99T (BE) orgafa wew
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The given graph shows the data of the students of

five schools who appeared and qualified in the Final

Board Examinations. Study the graph carefully and
answer the questions from (Q. Nos. 147 to 150).

Het Rear 74T 7% i fEmeral #t 91 @) foifaes gier
%, g7 fobar BT 7 77 forar & it vaH @ et facr BT
gl gT &, @i qeifar &1 A% # araErigE® 9ed i
¥t @& 3T Aorq | (ns?aswf%lﬂ-}so)

NUMBER OF STUDENTS —»

147

23INAS-1] A\

888 ¢

8

L
—r

7] Appeared [E] Qualified

L g

B C “D
SCHOOLS —+

o

Find out the total number of students of all
the schools who could not qualify the Exam.

aeft wpell & Tlen F &t (Tl g o feenfia
I HE&AT T DI |
(A) 4250 (B) 4500
(C) 4750 (D) 3750

(E) Question not attempted / Gﬁﬂﬁﬁ ER

148

149

150
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Find out the Ratio of the number of students

appeared in school A to school B.

e A 3R B % qien  Suferd 5T BT 1 Srgur

T ST |
(A) 3:4 ®) 2:3
© 5:3 (D) 4:3

(E) Question not attempted / srgafa s

Find out the ratio of the percentage of students

passed in school E and school D.

e wftrera femdl @pet E ot et D & S

TT, ITHT STTIT ST HIToIg |
(A) 4:5 B) 5:6
(G} 6:5 (D) 5:4

(E) Question not attempted / ST T

Average percentage of passed students of all

schools is approximately :-

Y el A S gy REntiEl @ efha giaea

AT -~
(A) 64% (B) 65%
(C) 66% (D) 70%

(E) Question not attempted / STgafa us
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RIS HHARNI 9949 §FS, SAYR

TET BT T U4 Bre: qEAT WEMS WM wdi-2023, 23

e B feeie: 21-01-2024

U B HH| w8 S e @ | ud SR @ U @ HH| 9 9N o1 o B | af o @ uH B w9 | \d 9T @
1 B 10§ 61 | A 91 | B 121 | A
2 C 32+ B 62 | B 92 | D 721 B
3 B e 631 ¢ 931 0 3] ¢
4 C 34 | Delete 64 | C 94 | B 124 | B
5 D 35 | B 65 | C 95 | B 125 | B
6 D 36| C 66 | D 9% | B 126 | A
7 D 37 120 & 1 < gr | F 127 | B
8 D 38| C 68 | Delete 98 | D 128 B
9 B 39| D 69 | A 9 | ¢ 129 | B
10| D 40 | D 70 - A 100 B 136 B
1t | A 41 | Delete 711 c 101| B 131] €
12 - € 42| B 7221 ¢ 102| B 132 ] A
131 ¢ 43 C 73 | D 103| B 133 A
14 | A 44 | 74 | Delete 04| D 13| €
15| B 45 | C 75 | D 105 C 19551 ¢
16 | A 46 | A 76 | A 106 C 161 ¢
v 47| D 271 € 107| C $37 1 B
18 | Delete 48 | Delete 78 C 108 B 138 A
19 | ¢ 49 | A 791 b 109| A 139 | B
20| C 50 | A 80 | B 110| C 140 ] <€
7| B 51| D 81 | B 11l A 141} ¢
22| A Bl ¢ 821 A 112| B 142 | B
T 53 | Delete 83 | C 113| D 143 | A
24 | D 54 [ B 84 | A 114 C 144 | A
25 | B 55 | B 85 | B 115| A 145 | D
26 | C 56 | C 86 | C 116 | B 146 | A
A 57§ € 87 | B 1171 € 17 ] ¢
28| D 58 | A 8| B 118| B 148 | D
91 ¢ 59 | D 89 | A 119 D 149 | B
0.1 05 60 | A 500 C 120 A 150 | C
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